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— W KD RIAPDY PNYDD I Do 92T
Everyone maintains he should return it; we are not concerned
that there was payment and this may be a swindle.

OVERVIEW

T1Y9R " explains that the np12mn between n"1 and the o°non (by a 12 1XYW 0w
0°021 NPINAX) 1s only 77 21 PRWI; however if 7717 2°1 then both agree that
we return the 0w. X" concludes X111 1Ww% Jw»n X7 It seems that
initially X"9 is only discussing the case of n1nX 12 X (for that is where
there is the NP2 between 2°nam 1n"7). NwOIN addresses the issue how can
there be a X111 by a NN 12 PRY 0W.

mooIn explains first why the X723 does not mention another concern:
— 2N 11)’\0”1‘\ ND ) 9915 10232 MY ANd XY

And we are also not concerned that perhaps he wrote the "vw to borrow
in 3911, etc. (and he did not borrow until *7wn, so it is a Q7P VW), this does
not concern us for we maintains as 2N does that 2 1721 1"20M2 VIY.

— o) NINNR 13 Y DIYN NINIPY)
And when X" mentioned that we return the 0w when the M9 is 770
because we are not concerned X111p91 1WWI02, he was referring to the case of
NYIMR 12 WS where there is a possibility of X°1p against the mmpY, therefore X"
teaches that we are not concerned for a (1379 and) X°1117. However X"9 was not discussing

a NT°INX 12 PRY Tuw when he said 1°wn X7 X211p71 119197 -
— >y1a9wnm 53 9T NIMP T9Y RY MINN 13 PNWAT

Because a X°111p is not possible by a 139X 2 PRW W, since such a W
will not collect from 297219wn, there can be no X117,

mooIn explains himself why he assumes that according to X"9 a 70w without 1R will

not collect *72vwnn, when shortly the X713 mentions a 172 which clearly states that the

0’121 maintain that a NPINR 12 PRY VW is 7213 even >72ywnn , therefore NvoIN explains -
- “‘nmn‘r N9 YT NOY

' Seemingly this wwn is more realistic than X°211p, where the person is an outright swindler (and we do not
suspect people of such acts), however here he does not intend to swindle anyone.

? Even though X" is seemingly discussing only a n1nX 12 PXW 0w (See ‘Overview’), nevertheless X"~
when giving this reason, is addressing the case of a N1™X 12 W*w vWw (which is also discussed in the 71wn).
? There is no reason to logically assume (on one’s own) that a N1IX 12 PXw Jww should collect *Taywnn,
unless we find a 71wn or Xn»72 that states so specifically.

* X" could not have known of this X092 since it contradicts the view of X" and the X713 cites this Xn>72
as a refutation of X"".
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For x"7 did not know of this 8n>s92 which is mentioned shortly in the x.
Therefore the presumption must be that a N1"IX 12 PRY 0w does not collect *7avwnn.

mooin offers an alternate explanation:
NI 990 MYV NPINNRT 19D S7a9WNN 32X NINN 12 1PNT 92D TYON %29 193 ON

Or you may also say; that X' maintains according to the j121 that a W

NN 2 PNT IS 5’7::7!:7?:7: "ax since 681.‘! 920 MYV NPNR and X" maintains
this-
— TNIDAT NN Y19 N7 2y by 9N

even though he did not know of the following Xn®93. The reason he

maintains this is -
— 7’2) NY 133 Y90 2331 NI 9990 MYV INY N 9207

Because X' reasons if the lack of N1 nR is not a 9219 MY, but rather a
conscious decision on part of the m>» to forgo 0°021 N1INX, then the M»

would also not be 7213 from 917 "2
— %9581 9399 1195 1991 03 YNNI Taywn SHY a1

For since the m>» forfeited the rights to a lien, he also forfeited the
principal, just as %'"9 maintains that a nIAX 12 PXY 0 is not 727 even i "12n.”

mooIn looks to support this latter interpretation:
— PINN 12 1PN 1NT NI 299N PRYD NPITNN 9INPT NP ¥HWYUN 199

And so indeed this last interpretation is slightly indicated by what X"9
stated, ‘the npy»r is when 7179% 2971 1°8°, which is referring to the case of
NN 12 PR (for it is only in this case where there is a NP17n1 between 275m »') -
—1PUN XY NINIPYY PIIDY 111 29N YaN 551 903 9INRP AT 9
And in reference to this statement (of 121 nponn) X"9 states immediately

afterwards; however if 7779 2917 we are not concerned X°19p®) 37¥95® (and

we return the W) -
NP HPINN I PRNT YIUN

> It is evident from this that Mo is not oA that >3 *327 *23 K97 K17 *7avwnn which is in parenthesis in our
hplapS

% There is no NN in the 7w because the 7910 mistakenly forgot to write it, but not that the % told him
there is no need to write it. We assume that every person wants security for his loans.

" We must assume that according to the 2 d1 a NPINX 12 PRW 0w is 721 [at least from 1"11]; otherwise
they would not argue with n"9, rather they would agree that it can be returned even if 7771 271 PX.

% »"7 and the o'nan both agree that we cannot distinguish between 1 *12 and *7Taywn (by a 12 PR 0w
nranR) for if Mavwn 2y 9nn then 1P 9 nn. Their dispute is that n"1 maintains that the lack of n1nX is not
a 790 MY, so the MY was Tavwn v Ynn, therefore he is also 17pn v P, However the o°non maintain
that N1°InX is 9910 NMyw and the MY» was not 2mn, neither on the T2y, nor on the 17p.

? See “Thinking it over’ # 2 & 3.
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This indicates that the reason of 131 X°111p21 17519Y is referring to the case of
NPINN 12 PN.

SUMMARY

The phrase 1°wn X7 R11p71 Ww15% may refer to NIAR 172 ww n"vw (if we
assume that nYInX 3% PRW 0w are 720 only " °1an), or it can refer to
nMINR 112 PRY 1'"ow (if we assume that 9910 NMyv NPNR and these NLVY can
also collect >12ywnn). One may say that if the m%n is 2mn the Tavw, he is
also %mn the 2.

THINKING IT OVER
1. What is the advantage of the first interpretation of Nd01n over the second
(to the extent that N1901n mentions it first)?

2. mvoIn explains why according to n"7 a NPINR 12 XY VW 1S not °12n 721
»1.'% Is nMoIn explanation in agreement with *"wA here (on the beginning of
this 11X 7"72 71M¥)? Can there be a 7397 n"po1 (according to n'"9)?"!

3. How can we assume that if 7pn %¥ Sin mavws By Snn; for if so, why did
the mM>n have a 70w written up?!

4. m901n mentions (in the second explanation) two concepts; a) NWYY NPINX
790, and b) 1Pa DR Yrn Mavws nR 2nn. Which of these two is the more
obvious (relative to the other)?

5. Can the wwi of »Wwn 7v M X9 10212 M>% 2n> Xaw (if we do not agree with
»2R) apply to a NPANR 12 PRY WY (according to the first vwd of MdOIN)?

10 See footnote # 9.
1 See qow 7"72 8,2 32 "
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